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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0
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09:20 278 150.0 5| 1RiIR009:20 Bz (KRFEAEES)
10:05 278 150.0 5| 1Ri&e10:05 B (REAERS)
10:50 278 150. 0 F BRi%e10:50 Bzl (GRAERRE)
11:30 278 150.0 S {Ri%e11:30 Bz (GRAERSE)
12:05 278 150.0 =l RRiB012:05 B (REAKEE)
12:40 278 150. 0 5| 1Ri%e12:40 B (REERE)
13:20 278 150.0 5| {Ri%e13:20 B3 (RAERSE)
13:55 278 150.0 = RRiB013:55 B (RFAEESE)
14:30 278 150. 0 E BRige14:30 Bz (GRAERESE)
15:00 278 150.0 5| {Ri%e15:00 B3 (RAERSE)
15:35 278 150.0 = RRiB@15:35 B (RFAEESE)
16:20 278 150.0 =l RRiB016:20 Bz (REAKEE)
=3t] 4170.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.6

FEREHEM S STEAERS (179.0 : 145.0), AIBEMT—@E XFHE
FRINSEPRIEBRE145.0 ml.

large discrepency for begining water status (365:75.0), set to 365 ml
BEERECE (2323.0 vs 3613.0) R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=57 (2025-05-25)
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P3-1

BfiE) | GEBEETIC (F)) | EM=E (BH/K) | KR R

07:40 273 150.0 = {RRiB007:40 Bz (RFAEEE)
08:20 273 150. 0 E|  {Rig@08:20 Bah (RE{ERE)
09:15 273 150.0 | 1Ri%e09:15 B (REAERER)
09:55 273 150.0 E 1BRi&@09:55 Bzl (RFAEREEE)
10:35 273 150. 0 E 1BRi&e10:35 Bz (GRAEREE)
11:15 273 150.0 sl BRige11:15 Bz (REAERESE)
11:50 273 150.0 =l {Rige11:50 B3 (RAERSE)
12:25 273 150.0 =l RiBe12:25 B (REAKEE)
13:00 273 150.0 =l RRi8013:00 Bz (REAEESE)
13:35 273 150.0 F BRige13:35 Bz CGRAERSE)
14:10 273 150.0 = Ri%e14:10 B (REMREEE)
14:45 273 150.0 =l RiB014:45 Bz (REAEESE)
15:25 273 150.0 F BRige15:25 Bz GRAERSE)
16:15 273 150.0 5| Rike16:15 Bz (REAERS)
H2it]3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

TERRHERE STHMERT (176.0 : 139.0), ARHEHAT—AERXAHE
ZRIASERRIERE139. 0 ml.
B EKECE (2223.0 vs 3670.0) 45



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=56 (2025-05-24)

R S il et N alal
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60 Warning: lcol [FVI',| "FVO’'] missing 40

200 4
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-1

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:30 278 150.0 (Z=| {Ri%@07:30 Bz (FEAFERHSE)
08:15 278 150.0 | =| 1BRi&e08:15 Bzh (REERSE)
09:25 278 150.0 [Z=| 1RiB009:25 Bzh (KREEREE)
10:25 278 150.0 & =| 1Ri%@10:25 Bz (GRAHERESE)
11:25 278 150.0 & =| 1Rige11:25 Bzh (RAHERESE)
12:10 278 150.0 | =| 1Ri%e12:10 Bz (kAEREEE)
12:55 278 150.0 |Z=| 1BRige12:55 Bzh (REERESE)
13:50 278 150.0 PH| 1{Ri%e@13:50 B (RAERESE)
14:35 278 150.0 FA| {Ri%@14:35 Bz (GRAEREE)
15:20 278 150.0 FA| 1B2i%@15:20 B3h (RkA{EREE)
16:15 278 150.0 PRl 1Ri%e16:15 Bzh (RAERESE)
23t+]3058.0 (11%) 1650. 0 3 3FKEC: 2080.0, PH: 5.6

WERRHUEME S TEAERTS (179.0 : 142.0), AIgERAF—RE XAH45
BRI\ SEBRIERE142.0 ml.
#[EKECE (2080. 0 vs 3727.0) 345



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=55 (2025-05-23)

T e g g e S B S g g
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Warning: lcol ['FVI’,

"FVO' ] missing

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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